CONSTITUTIONAL LAW OUTLINE
THE FEDERAL JUDICIAL POWER: CAN THE COURT HEAR THE CASE? 
I) The Power of Judicial Review
A. Marbury v. Madison – Establishes Judicial Review Only for Acts of Congress
1) Background
a) Anti-Federalists wins in 1800 and its payback against the Federalists who retreat into the judiciary by creating new courts and filling it with Federalists. Marbury is one Fed who doesn’t get his appointment in time and sues new President Jefferson to honor his commission. Jefferson refuses and he files a writ of mandamus (to compel minstrel duty) to SCOTUS.
b) Marbury argued that he can file directly to SCOTUS because the Judiciary Act of 1789 expanded SCOTUS original jurisdiction. 
2) The Issues

a) Did Mabury have a right to his commission?
i. Yes, mere failure to deliver his commission was “violative of a vested legal right.”

b) If yes, does Marbury have a legal remedy to his commission?

i. Yes, because our government is one of law, not of men. Executive power can be seen as a political act or a minstrel action.
ii. Political act is a discretionary power for the executive.
iii. A minstrel act is an act required by law, and a court can provide a remedy.

iv. The delivery of a commission is a purely minstrel act.

c) If yes, is SCOTUS the proper forum to seek the legal remedy?

i. No, SCOTUS is not the proper forum when he reviews the Judiciary Act in comparison with Article 3, Section 2, Clause 2
· The above clause covers original and appellate jurisdiction. Because judges were not listed in original jurisdiction, it must be in appellate jurisdiction. 
ii. Congress cannot change the original jurisdiction of SCOTUS. SCOTUS can review due to:

· Art. 3, Sec. 2, Cl. 1 - “The judicial power shall extend to all cases, in law and equity, arising under this Constitution, the laws of the United States, and treaties made,”
· Fundamental Law (What the point of having laws?) - "To what purpose are powers limited, and to what purpose is that limitation committed to writing, if these limits may, at any time, be passed by those intended to be restrained?"
· Oath to defend the constitution

· The Supremacy Clause (Art.6, Cl.2) – “This Constitution, and the Laws of the United States which shall be made in Pursuance thereof; and all Treaties made, or which shall be made, under the Authority of the United States, shall be the supreme Law of the Land; and the Judges in every State shall be bound thereby, any Thing in the Constitution or Laws of any State to the Contrary notwithstanding.”
B. Judicial Review Over States
1) Martins v. Hunter’s Lessee (Judicial Review over state court’s opinion)
a) VA Court held that a state land grand was trumps an international treaty. Court held that state court was the final arbiter for cases involving state law. SCOTUS reversed, holding that it can rule over state court’s opinion of federal law/treaties to ensure uniformity. 
2) Fletcher v. Peck
a) Georgia invalidated a sale between speculators after it was discovered the land grand included bribery. SCOTUS found this invalidation unconstitutional, violating the contract clause (Art. 1, Section 10, Clause 1) of the constitution. States are not independent sovereigns but is a piece of the Union which must follow the constitution
3) Cohens v. Virginia (establishes SCOTUS’s review of appellate decision in criminal matters)
a) It is legal to sale lottery tickets in D.C. Unfortunately, Cohen brothers sold it in Virginia and were convicted. Cohens were convicted but Virginia Court claimed they were the final arbiters between questions of their state laws and federal law. SCOTUS upheld conviction, though reversing latter holding. SCOTUS is the final arbiter for questions of state laws and federal laws.
4) Cooper v. Aaron (Arkansas Segregation)
a)  In response to the violent confrontation with the desegregation of schools in Arkansas, the governor and state legislature passed state law permitting segregation, challenging the authority of SCOTUS.

b) Justice Warren re-affirms the power of SCOTUS to bound state law in compliance with constitutional aw

· The Supremacy Clause
· Art. 6, Clause 3 has government officers to uphold the constitution.
C. The Breadth of Judicial Review: Authority or Supremacy?

1) Judicial Supremacy – SCOTUS is the final arbiter of constitutional law
2) Departmentalism – SCOTUS is not the exclusive interpreter of the Constitution. Congress and the Executive have this power as well.
3) Examples of Conflict between the Two Ideas 

a) Jackson’s Veto of the Bank of the US
b) South After Brown v. Board of Education

c) Terrorism and Habeus Corpus

II) Limits on Federal Judicial Power
A. Court Stripping 
1) Ex Parte McCardle (1869)
a) Facts - During the reconstruction, McCardle published “incendiary” articles that violated the Military Reconstruction Act of 1867. He made a motion for habeus corpus (show the body, can’t hold indefinitely without a trial) in a circuit court in Mississippi. The court rejected his motion. He then appealed to the SCOTUS.
b) Did SCOTUS have jurisdiction to hear the case?
c) No, because Congress has withdrew the court’s appellate jurisdiction using their power under Article 3, Section 2 which reads “In all the other cases before mentioned, the Supreme Court shall have appellate jurisdiction, both as to law and fact, with such exceptions, and under such regulations as the Congress shall make.” Judge Chase points out that the withdrawal statute does not affect jurisdiction which was previously exercised or cases presently before the 
B. Justiciability – No advisory opinion, standing, no mootness, ripeness, no non-justiciable political question
1) No Advisory Opinion
a) Art. 3, Section 2 gives jurisdiction over “cases or controversy”. This means no abstract, hypothetical, or advisory opinions. 
b) President Washington wanted to know the limits of his war powers. SCOTUS refused to answer.
2) Standing 
a) Injury-in-fact: past or imminent injury to P.
i. P’s injury must also be concreted and individualized/particularized
ii. Actual or imminent, not hypothetical 
iii. Harm can be non-economic as well. Aesthetic claims are allowed. 

· Lujan – procedure of no consultation which leads to less wildlife protection abroad has standing because no harm has come to the plaintiffs and unlikely. P’s claim were also not inviduated, no different from any other person. 
b) Causation: D’s act must have caused P’s injuries

i. Causations become problematic when the claim is there is a procedure that creates an act that supposedly causes the harm.

· Allen v. Wright – IRS tax break encourages policy which causes segregation. O’Connor believed the causation was tenuous, couldn’t say if school would have segregated anyway. 
· Mass. v. EPA – Court thought the link between EPA’s policies which causes global warming which caused water to rise and consume MA’s beach was solid.
c) Redressability – will the court ruling address the harm?
i. Lujan – Even if court granted for D, there is no guarantee other countries will play along. 
ii. Mass v. EPA (dissent) – Even if court gave an order to EPA, their impact on global warming is so small compared to other actors.
3) No Mootness – A case is moot if it raised a live controversy at the time of filing but events later deprived the litigant of an ongoing stake in the controversy.
a) P sues D university that its admission program is discriminatory. He gets in and graduates anyway before the case gets to review and is dismissed for mootness.
b) Exception: Capable of Repetition, yet evading review – Even if P’s case become moot, a different person may be injured in the same way by the same D so court will review
4) Ripeness – the controversy has to be sufficiently concrete
a) United Public Workers v. Mitchell – Hatch Act prohibits federal employees from becoming involved in political campaigns. P has yet to participate in a political campaign nor have they specified the specific act they wanted to do. Not yet ripe.
b) But you don’t have to violate a statute for it to become moot as long as there is criminal penalty.
c) But what about Poe v. Ullman, where there is a criminal penalty against contraceptives but it’s not enforced?
5) No Non-Justiciable Political Question 

a) A textually demonstrable commitment of an issue to a coordinate political department
i. Nixon v. US – best up to Senate on how to impeach Nixon
b) A lack of judicially discoverable and manageable standards for resolving it
i. Colegrave v. Greene – Reapportionment question can’t be answered because the guarantee clause is not a manageable standard
ii. Baker v. Carr – Reapportionment question can be answered because the equal protection clause is a manageable standard

c) Impossible to decided without an initial policy determination of a kind clearly for nonjudicial opinion

i. The outcome of a property dispute hinged on the fact if the US has declared war. Best left to Congress.

d) Avoiding disrespect
e) An unusual need to defer to a prior political decision

f)  To avoid embarrassment so the government has one voice

C. Subject Matter Limits

1) Michigan v. Long - the United States Supreme Court will presume that a state court decision does not rest on adequate and independent state grounds when it is not clear from the opinion itself that the state court relied upon an adequate and independent state ground and when it fairly appears that the state court rested its decision primarily on federal law.
2) To get over this presumption, state in your opinion that it is based only on state law.
D. Political and Practical Constraints

1) Supreme Court’s power is moral, not coercive
a) For Their Own Good by Bryer – SCOTUS ordered a missionary to be released who was captured on Indian land in violation of Georgia’s law. Georgia refused to obey.
b) South’s Football Fan still stand up and pray
CONGRESSIONAL ACT (Do they have the Power to Act?)
III) The Powers of Congress
A. Enumerated Powers - McCulloch v. Maryland
1) Is a US Bank Constitutional?

a) Yes

i. Implied power from the necessary and proper clause in article 1, section 8, clause 18.
ii. Necessary doesn’t mean absolutely necessary, just conducive to helping Congress implement the first 17 clauses of Article 1. 

2) Can Maryland impose a tax on the bank?
a) No, the supremacy clause prevents interference with instruments of the US. You can impose a tax on the US but you can’t do it discriminatory or hostilely. 
b) The tax lacks “confidence” and political representation. There is no feedback mechanism for political representation because US cannot control the Maryland legislature on imposing taxes on them.
3) Where is US sovereignty derived from?
a) It is from the people of the US, as stated in the preamble. Because it’s from the people, the US is a union that binds the states together rather than a confederation of states. 
B. The Commerce Power – Congress has the power to “regulate commerce…among several states.” Art.1, §8. 
1) The Modern Rehnquist View Under Lopez v. US Allows Congress to Regulate 3 categories
a) Channels of IC – highways, waterways, air traffic, telephone lines
i. US v. Darby – Congress can regulate interstate transport of lumber by limiting it to intrastate because it had a right in regulating substandard labor conditions which affected interstate commerce. 
b) Instrumentalities and People of IC- People, machines, and other things that affect interstate commerce even if the activities are intrastate. Congress can say a truck must have a safety device if it is an instrumentality used in IC.
c) Activities that “Substantially affecting or relating to” interstate commerce. 
i. You need to ask if the activity is commercial. If it is, the court can aggregate its effect to see if it affects interstate commerce even if the particular instance doesn’t affect interstate congress.

· Gonzalez v. Raich – Marijuana is a commercial activity under CSA, so even if Raich’s cultivation of pot for her own personal use may not affect interstate commerce, in the aggregate, some pot from hundreds of personal growers may be distributed into the illegal market which CSA is suppose to regulate. CSA does not have to carve out an exception for people like Raich. 
ii. If the activity is not commercial, then there has to be an obvious direct link between activity and interstate commerce. 
· US v. Lopez – regulating the carrying of a gun in a school zone are not a commercial activity. The link between guns and interstate commerce is to tenuous for Congress to have this power. 
· US v. Morrison – violence against women is not a commercial activity. The court didn’t buy congressional reports that it affected interstate commerce and thought the link was too tenuous. 

d) Other Factors Court find compelling
i. Jurisdictional Hook – Limiting the congressional act in such a way that it applies to particular activities that has a direct link IC. 
· If in Lopez, the act only applied to guns carried onto school that had been moved via interstate commerce to interstate commerce. 
· Katzenbach v. McClung – Applies only to restaurants on interstate highways who got a certain percentage of food from out of state.
ii. Traditional Domain of the states in which it has been sovereign such as education, family law, and criminal law

iii. Congressional reports

e) In Lopez, court said it will not longer be enough for Congress to have a rational basis for believe an effect existed, Congress must prove in fact that the link exists.
C. Congressional Spending Power: Art.1, §8 – Congress has the power to “pay debts and provide for the common defense and general welfare of the US.” 
1) Congress cannot directly regulate under this power but it may attach conditions on the disbursement of money to achieve the general welfare objective.
a) Spending must be for the general welfare – Court will defer to Congress and not second-guess if whether Congress’ objective is really for general welfare since this is a political question
b) Unambiguousness – Terms should be unambiguous and shouldn’t be tucked away somewhere on coattail of a bill. It has to be clear because the states have a choice in whether they want to take the money. It’s like entering into a contract; you should know what the strings are. 

c) Germaneness – the terms must be somehow related to the national objective. 
d) Other constitutional prohibitions – Congress can’t induce states to violate the constitution. 
2) Cases
a) US v. Butler (1936) - Federal government created a tax to regulate agriculture during the New Deal. Court saw this as unconstitutional, that it is an indirect means to an unconstitutional end, the controlling of agriculture which is a state power. The power to tax is the power to destroy and coerce. But the majority conceded that Hamilton (the spending power is not restricted to the enumerated powers, especially when viewed with the necessary and proper clause) was correct, not Madison (Madison’s view would have rendered general welfare mere tautology). 
i. Dissent thinks the majority opinion is ridiculous, that congress has the power to spend money on terms of how it is disbursed. So they may not mandate state schools provide agricultural education but they can provide a state school will get federal funding only for agricultural education. 

b) South Dakota v. Dole (1987) - Congress said that any state that does not have a minimum age of 21 does not get the full federal funding. SD, where the minimum age is 19, claimed it was unconstitutional, that such regulation is coercion. SCOTUS said this indirect regulation is perfectly constitutional. The court believed there was a relationship between age of drinking and safety on highway is related (germaneness with general welfare). It was unambiguous and did not violate any other constitutional principles.
i. O’Connor dissents because there is no relation between alcohol and traffic safety. It’s over-inclusive and under-inclusive. It stop teenagers from drinking who do not drive and under-inclusive because drunk teenagers make up a small part of accidents. She believes Congress can prescribe how the money is spent. So Congress can require that the money be used with a certain paving material for the freeway but you can’t hook the state into regulating. The test is whether it is a condition on a grant or if it’s regulation. The former is okay, the latter is not. Regulation can only be done on enumerated powers.
D. Congressional Treaty Power
1) In General
a) President can enter into treaties with foreign nations if he can get 2/3 senate approval
i. SCOTUS, however, has recognized that the President has implicit power to enter into an executive agreement without express congressional assent
b) The Supremacy Clause makes treaties along with federal statute and constitutional the supreme law of the land. 
i. Treaties can override conflicting state laws
· Missouri v. Holland (1920) – US enters into a treaty with GB regulating the shooting of migratory birds from Canada. Missouri claimed the treaty violated their own laws. SCOTUS held the treaty was the supreme law of the land and there is no other way to regulate transnational birds. 
ii. Treaties are subject to constitutional limitations
· Reid v. Covert – Federal statute, in cooperation with treaty, makes it possible for US to try service member’s dependent in military court. SCOTUS said this was unconstitutional for it violated the citizen’s right. 
E. Section 5 of the 14th Amendment 

1) The 14th amendment only applies to state action that violates equal protection, not private action. Requires:
a) Congruence – Remedy must be congruent to the harm
b) Proportionality – Remedy must be proportional to the harm

2) Cases

a) US v. Morrison (2000) - The Violence Against Women Act is unconstitutional because it does not address state action. The 14th amendment only applies to equal protection from the state, not private citizens. Petitioner argues that it is state action, that the states don’t do enough to prosecute gender-motivated crimes. But majority sees that giving someone a civil option doesn’t redress the problem of the state’s disparity in prosecuting gender-motivated crimes, the remedy is incongruent to the problem of violence against women.
LIMITS ON FEDERAL POWER

F. Overarching federalism-based limits on Congress’s authority to Regulate States

1) 10th Amendment as a Limit: “the powers not delegated to the US by the Constitution, nor prohibited by it to the States, are reserved to the States respectively, or to the People.” 
a) Generally-Applicable Law – If Congress passes a generally applicable law that would apply to a private party but also affects a state, the law is still valid.
i. Garcia v. San Antonio Metro Transit Authority – Congress passes over-time provisions made applicable for all business of certain sizes through the commerce clause. There is no exemptions for public transit employees, who sue the state for backpay. States claim law is unconstitutional. SCOTUS holds law is constitutional, that employment and overtime that follows is not an exclusive state right but one that is widely shared.
b) Commandeering of State’s legislative and/or State’s executive
i. NY v. US – Congress passes law that says States must dispose toxic waste or it’ll be deemed a penalty. Congress may not force a state to enact and enforce a federal regulatory program, because it is commandeering the state’s legislative exclusive right to make laws. Allowing such an action would wipe out a political feedback loop, since the federal government is insulated from political feedback.
ii. Printz v. US – Congress cannot compel local sherriff’s to perform background checks on applicants for handgun permits in accordance with the Brady act.

iii. Distinguish Reno v. Condon - Federal government can regulate states activity, it just can’t regulate the state’s regulation of private parties. So in this case, SCOTUS upheld a statute that made it illegal for states dmv to share their database information. 

c) State cannot waive their exclusive power to the federal government
i. NY v. US – The dissent pointed out that several states cooperated with Congress to get the act passed. This is essentially a waiver of state’s legislative power to congress.

IV)  SEPERATION OF POWERS

A) President cannot make laws but only carry out the laws made by Congress. But Congress’s acquiescence or approval may convince the court that the President is carrying out a law than making it

1) Youngstown v. Sawyer – President Truman wants to aver a strike so he has his Secretary of Commerce take over the steel mill important to the Korean War effort. The seizure is considered unconstitutional, since this was in the 3rd category of disapproval. Congress had passed the Taft-Hartley Act, which set out a procedure to settle strikes. The court believed such an act prohibits Presidential seizure. 
2) The Boland Amendment – Passed during the Iran-Contra Affair to stop the executive branch from overtly supporting the Contras.
3) Clinton v. NY – A line-item veto is a power to make law, not execute it. It violates the presentment clause and history that both houses of Congress pass a bill and President either accepts in full or rejects it. He can pick and choose which expenditure to pass. 
B) Presidential Authority over Foreign and Military Affairs
1) For enumerated powers of President such as waging war, President does not need Congressional approval.

2) Foreign and military affairs are blended with Congress though President is given more discretion
a) Dames &Moore v. Regan - In response to the Iranian Hostage crisis, President Carter nullified attachment against Iranian assets in the US and suspended all claims against Iranian assets. D&M was a company that won a $3 million dollar attachment against Iran. But it was nullified due to Carter. Court found that the nullification was okay because it had statutory support. But the suspension was one based on executive agreement rather than treaty. Nevertheless, the court upheld it anyway, noting that it was within the power of the president and that silence can be considered as approval, at the very least, an absence of disapproval.

C) Limits on Delegation (The Non-delegation Doctrine) – In today’s complex world, Congress will delegate the right to create regulations to the executive branch for reasons of practicality, efficiency, flexibility, and expertise. But they can’t delegate too much power (not giving appropriate standards)
1) Whitman v. ATA – Congress passes Clean air act and creates EPA to enforce the act. It is challenged by truckers because it’s too much authority for EPA to set a level they deem to be safe for pollutants. 
a) The proper remedy – SCOTUS remands the issue back to EPA, telling them to fix it, saying that their discretion is too broad. But they also give them a relevant standard so EPA can’t remedy it themselves to their favor, which is to provide guidance and an intelligible principle to execute the law. 

b) But the standard is only for important matter, not trivial matter. Providing specification for grain elevator is trivial, providing specification for national air pollution is important. 
D) Limits On The Legislative Veto – A legislative veto was formed out of Congress’ need to delegate power to the Executive branch due to our complex world. It’s a method for retaining control over the delegated power: how they would retain some control when they delegate power to executive agencies. An executive action would be delayed for 2 or 3 months so a house, both houses, or some committee can veto the action should they choose.
1) INS v. Chada (1983) – The Attorney General, a branch of the executive, refused to deport Chada. House of Rep used their legislative veto and ordered Chada to be deported. SCOTUS found the legislative veto unconstitutional because it violated the concept of bicameralism in Art. 1, section 1, clause 7. It impedes the presentment clause violates the presidential veto power, because you need two houses with 2/3 majority to override the president, not one. 

a) Expressio unis – There is a couple places in the constitution where a house or senate can acts on its own such as impeachment, confirmation of appointments. These backs up the argument of bicameralism, that if the framers wanted congress to have the power of legislative veto, they would have included in their listing of individual powers. 

b) Justice Powell concurs but thinks this is a simple problem of the legislature usurping a judicial function. 
c) Justice White dissents because it’s an unwise policy decision, forcing congress to make a hard choice between unresolved national problems b/c Congress doesn’t have the specialization executive agencies have to deal with these special problems or to abdicate full legislative power to the executive. He believes that the constitution doesn’t approve or disapprove a congressional veto because the founders never thought government would get this complex. It doesn’t violate bicameralism because the legislative veto is not a power to write a new law without bicameral approval or presidential participation. It is a veto by statute that negates what the executive proposes. 

2) Congress still have other ways to limit the Executive
a) The Purse Strings - Clinton wanted to prosecute tobacco companies for sick people who had to be taken care of by Medicare. Congress says it won’t fund it.
b) Be more specific in their delegation to the Executive next time so they won’t have to use legislative veto
c) Pass a retroactive law to deal with all similar future scenarios
E) APPOINTMENTS OF FEDERAL OFFICERS

1) Only the President can appoint federal executive officers, but the Senate must confirm. Appointment Clause of Art. 2. 
a) Buckley v. Valeo – Congress establishes FEC, an executive agency that will enforce campaign contribution law. The statute allows Congress to appoint a majority of the FEC’s members, which is unconstitutional since the members will primarily enforce the laws (exercise significant authority pursuant to the laws of the US) and hence are officers of the US. The members must be appointed by the President, but Congress can hold certain qualifications members must meet.
2) Only President can appoint principal officers, but Congress can dictate whether President, the Courts, or Heads of Departments may appoint inferior officers. 
a) If the court appoints an inferior officer, there must be some congruity between the function performed by the court and performance of the duty of the appointee. (Morrison v. Olsen – Court can appoint IC because he was exercising a quasi-judicial function of the courts)
b) Congress can say commissioner of commerce will fill a board but they can’t appoint a specific person. 

3) How to determine if an officer is Principal or Inferior
a) Morrison v. Olsen (1988) – Olsen argued creating an independent counsel violated separation of powers, since it was a principal executive officer with unchecked power, in essence a fourth branch, that can be manipulated by partisanship. SCOTUS disagreed, holding that the IC was an inferior officer. The question to asked is how much power did the IC have (factors were):
i. removal power over the officer by a higher executive official
ii. performance of limited duties

iii. limited jurisdiction in the office
iv. Limited Tenure
b) Edmond v. US (1997) – Edmond appealed his court-martial, for the judge was appointed by the Secretary of Transportation. He held the judge is a principle officer, who must be appointed by the president and not a Department Head. SCOTUS disagreed, holding that the judge was an inferior officer who was supervised by a principal officer (SOT) who was appointed by the President. The rationale is to have political accountability.

F) REMOVAL OF FEDERAL OFFICERS
1) President can remove any federal executive officer at will
a) Rationale – Presidents need to have a stick to get his officers in line. 
b) Exception: Independent Counsel – The independent counsel, an inferior executive officer with power to investigate crimes by high-ranking officials, is appointed by special courts. IC can only be removed for good cause by the AG. Court said this is constitutional because AG is under the control of the president and this would be enough control to ensure President can perform all constitutionally assigned duties. Also, the need to control the independent counsel was not central to the function of the executive branch (Is it impermissible burden to President’s ability to executing the law?). You need to look at i) The nature of the office and ii) the nature of the limitation.  
2) President cannot remove quasi-legislative or quasi-judicial officers at will

a) Humphrey’s Executor – FDR fired the director of the FTC, who was in the role of a quasi-legislative/quasi-judicial. SCOTUS said this was unconstitutional, because the court needs to protect these independent agencies from the influences of the executive.

b) Again, you need to look at i) the nature of the office (FTC needs to be independent) and ii) the nature of the limitation (tenure, power allowed). 

3) Congress cannot reserve for itself the power of removal of an officer charged with the execution of the laws except by impeachment
a) Bowsher v. Synar – The comptroller general, who was appointed by the President, had the power to send budget cuts to the President, who would enforce this cuts unless Congress did it themselves. Under the Gramm-Rudman act that gave Comptroller such power, it also gave Congress the power to remove him. Was this removal a violation of separation of powers? 

i. Formalistic Majority Argument – Yes, because “Congress in effect has retained control over the execution of the Act and has intruded into the executive function. The constitution does not permit such intrusion.” Congress cannot control an executive officer, only the President can. 
ii. Functional Dissent argument – White argued that this is a remarkable legislation that will wipe out our deficit. As long as there isn’t “encroachment or aggrandization of one branch at the expense of the other”, it is fine. This dissent becomes the rationale in Morrison v. Olsen.
4) Congress nor President Has the Power to Remove Article 3 Federal Judges for they hold their office during “good behavior”
a) Only way is through impeachment

LIMITS ON STATE’S POWER (Pre-emption, DCC, or I&C)
PRE-EMPTION

A. The constitutional basis – It comes from the supremacy clause. 

B.
Contrasting commandeering – Preemption is basically telling a state that it can’t regulate in a certain way. Commandeering is telling a state that it must regulate in a certain way. It is subtle difference separating the constitutional from the unconstitutional. 

C.
The different varieties of preemption

1.
Express

2.
Implied 

a.
Impossibility (conflict pre-emption)

b.
Field – Congress couldn’t have meant for states to add to this because it’s a federal domain. 

c.
Frustration of purpose (obstacle pre-emption) – The state law frustrates the very purpose of the federal law. 

D.
The “ultimate touchstone” – Congressional intent is what matters.
E.
Sprietsma v. Mercury Marine
1.
The state law at issue – a tort negligence claim for failing to install propeller guards based on common law

2.
Express preemption – They said the federal statute says that that it will pre-empt “a” state law, meaning a specific state law. This means that it does not override common law, which the P’s claim was based on. 

3.
Implied preemption – D says there was a pre-emption that was implied due to Coast guard’s failure to regulate propeller guards. Court disagrees, looking at the review history of the Coast guard. Coast guard wasn’t ready to create a national standard; implying state law should still remain in effect. It doesn’t mean there was intent to pre-empt.

4. Implied Field Pre-emption – Coast guard did not intend to regulate the entire field of propeller guards. It was one of many things Coast Guard looked at during their safety study. 

B.
Revisiting Raich – so does CSA pre-empt CA’s compassionate marijuana act? Not really, since CA’s law is not express contradiction with each other nor is it impossible to comply with both. It’s not an obstacle either because we’re not preventing feds from raiding weed growers. Our law is we just won’t do the raiding ourselves. 

II.
The Dormant Commerce Clause

A.
The central idea – In the wake of congressional silence, states cannot discriminate against or unduly burden IC through regulation. (If the landfills of the NJ case were NJ owned, then it’s not really regulation). The core idea is to prevent state protectionism. 

B.
The role of Congress – If congress is no longer silent, then the DCC goes away. 

C.
The doctrinal framework – Analysis Step: Does the state law discriminate against IC (doesn’t matter if it is on its face, its practice or purpose)? If it does, we go through rigorous scrutiny. The rigorous scrutiny analysis is 1) does the state have a legitimate interest in supporting the law? 2) does the state have any nondiscriminatory alternatives? If no, does the state law unduly burden IC (Pike balancing question)? 

III.
Discrimination against interstate commerce

A.
Philadelphia v. New Jersey
1.
The scope of the Clause – you can’t bring solid waste into NJ. 

2.
The applicable standard – Did it discriminate against IC versus intrastate commerce? Yes it did because it was okay to move trash around New Jersey, just not from another state. We then ask if NJ has a state interest in this law. They did to protect their health and safety of their citizens. Did they have a nondiscriminatory alternatives? Yes, they did so they the law is unconstitutional. 

3.
Nondiscriminatory alternatives

B.
Other examples – In the 3 cases below, the discrimination is on the face of the bills. 

1.
Hughes v. Oklahoma – can’t take fish out of OK.
2.
Dean Milk Co. v. Madison – Only milk that is pasteurized in Madison can be sold in Wisconsin. Even though the law made it difficult for other Wisconsin milkers, it was still discriminatory because it harmed all out-of-state milker. 
3.
Maine v. Taylor – Can’t bring fish in from out of state. But court found it constitutional because there was no other way for them to get rid of the parasite population or the non-native fishes. 
I.
Discrimination in purpose or practical effect

A.
Summary 

B.
Hunt v. Washington State Apple Adv. Comm’n – NC required USDA grades on all apple crates, does not allow for other state’s grading system. It doesn’t specifically discriminate against Washington’s apples but it does affect interstate commerce, for Washington has to switch to a new costly standard. SCOTUS doesn’t find there is state interest, because the consumers don’t see the grading system. It also doesn’t take advantage of alternatives. 

C.
Exxon Corp. v. Maryland – No oil producer or refiner could operate a retail station in MD (you can sell it to a retail station). There was no oil producer in MD at the time. But the court found it constitutional because they didn’t discriminate against in state or out of state. Just made a condition for producer/refiner. It did not affect interstate commerce either because it didn’t stifle it. 

II.
Undue burdens on interstate commerce

A.
The Pike balancing test

B.
Kassel v. Consolidated Freightways
1.
Iowa’s law and its purposes – Limited doubles to 60 feet because long haul trucks are dangerous. Consolidated Freightways had a lot of doubles beyond 60 ft. 

2.
Balancing benefits and burdens – Even if you don’t believe it is discriminatory, it can be found that such restriction doesn’t adversely affect IC. 

3.
Protectionism? – You can think of this as discriminatory. 

C.
True Pike balancing – Another means of catching discrimination. The actual pike balancing test only happens in Navajo and Southern Pacific according to Joondeph. 

III.
“Exceptions” to the dormant Commerce Clause

A.
Congressional action

1.
Prudential Ins. v. Benjamin – SC imposes a 3% premium tax on all out-of-state insurance companies. This is clearly protectionist but DCC never comes up because Congress has allowed for this through statute. 

2.
More generally

B.
Market participation

1.
Reeves v. Stake
2.
South-Central Timber

I.
“Exceptions” to the dormant Commerce Clause

A.
Congressional action – Prudential Insurance v. Benjamin – SC’s law taxing out-of-state insurer is okay because it was blessed by congress. 

B.
Market participation

1.
Reeves v. Stake – SD built a cement plant when there was a cement shortage in the 1930s. They later sold it to everyone, then reverse and only sold it to SD residents to ensure the state did not have another shortage. For market participation, you don’t have to prove there is a legitimate interest in the law. But you should anyway to prevent a challenge from due process. You can’t apply the privilege and immunity to this case because we have a corporation (Reeves Inc.) suing SD and privileges and immunity only apply to citizens, not people. But if this case had an actual person suing SD, then P&I applies. 

2.
South-Central Timber – You can dictate who you sell to as a state market participant but you can’t dictate to your customers that they must process it in state.  

II.
The Privileges and Immunities Clause of Art. 4
A.
The central purpose – Comity: When a citizen goes into another state, he shouldn’t be treated any differently. 

B.
“Citizens” – Only applies to citizens, not corporations. 

C.
“Privileges” and “immunities” – It has to be something we consider a privilege or immunity, things like fundamental constitutional rights and economic activities. The line is “bearing onto the vitality of the nation as a single entity.” Recreational activity is not included in this. Prof. thinks that in Reeves v. Stake, if it was a citizen buying cement, you can make an argument for violating a fundamental economic right.  

D.
The standard of scrutiny – 1) The government interest must be substantial. This is certainly higher than legitimate. 2) there must be a substantial relationship between the act and the interest. 

I.
The Privileges or Immunities Clause (Fourteenth Amendment)

A.
Saenz v. Roe
1.
The right to travel – you have the right to move around the country (Through P&I of Art. 4, section 2), the right to be treated the same no matter the duration. But in this case, we don’t have an Art. 4, section 2 problem because it involves CA discriminating against CA residents, not out-of-state residents. Instead, we have a problem of P&I in the 14th. 

2.
The applicable level of scrutiny – The court implies it is a strict scrutiny test, because it can’t be mere rationality nor intermediate scrutiny. 

3.
California’s interests – CA argued that it was trying to save money. They can’t make the argument they want to keep the indigent out because you can’t prohibit people from moving around the country. 

B.
Problem 6 revisited 

II.
The incorporation controversy

A.
An alternative route – We chose to go through the 14th amendment to apply bill of rights to states rather than P&I. 

B.
The applicable standard – “fundamental principles of liberty and justice” and “implicit in a scheme of ordered liberty”. Basically, ask if it is important or if it has been a tradition in our country? 

C.
Selective or wholesale? – basically, the debate between Harlan and Black. The court have chose selective philosophy, though over the years, we have moved to wholesale incorporation. We’re still haven’t incorporated the 2nd, 3rd, grand jury indictment (5th), civil jury trial (7th) onto the states. 

D.
Some important implications

1.
Jot for jot? – Though we have incorporated jury for criminal trial, they’re not the identically the same. For federal crimes, we need 12 jurors for unanimous decision. For state, we allow 6 and it just has to be majority. They have not incorporated them for jot for jot. 

2.
Substantive due process – It’s a conflicting word. Undermines our argument for incorporation. We’ll cover it more next semester. 

3.
Unenumerated rights – A right that is important to our conscience. 

III.
The Lochner era – has been overruled but we’ll study it. 

A.
The questions it continues to pose

B.
Lochner v. New York
1.
The substantive right

2.
Legitimate state interests

3.
The level of judicial scrutiny

4.
Holmes’s dissent – Lochner is wrong because the court should defer unless it’s clearly unconstitutional.

5. It’s also wrong because the right to contract liberty between employer and employee does not exist. It’s unremunerated. 

6. This right to protect the contract liberty between employers and employees was the wrong right to protect, as in normative terms. 

C.
The New Deal crisis

CONSTITUTION’S PROTECTION OF CIVIL RIGHTS AND CIVIL LIBERTIES
I) Intro
A) Constitution Only Protects against actions of the government, not private parties (the one exception being owning slaves)
B) The Bill of Rights is not directly applicable to the states. Instead, it must be incorporated through selective incorporation via the 14th Amendment. Most of the bill of rights has been incorporated.
II) The 14th Amendment 
A) The text of section 1 reads, “All persons born or naturalized in the US, and subject to the jurisdiction hereof, are citizens of the US and of the State where they reside. No state shall make or enforce any law which shall abridge the privileges or immunities of citizens of the United States; nor shall any State deprive any person of life, liberty, or property, without due process of law; nor deny to any person within its jurisdiction the equal protection of the laws.” 
1) So three rights conferred are:

a) The right to the privileges or immunities of national citizenship
b) The right to due process with regards to life, liberty, or property
c) Equal protection 

B) Selective Incorporation – To determine whether a right under the bill of right applies to the state, you must determine if the right is of “fundamental importance.” 
1) Duncan v. Louisiana, 1968

a) D is convicted of misdemeanor punishable by a max of 2 years in prison. He wanted a jury trial but state of LA says this only goes to cases for death penalty or hard labor. D claimed sixth and 14th amendment guarantee his right to a jury trial.

b) The court used the selective incorporation test: To determine whether a provision of the bill of rights should be made applicable to the states, ask “whether given this kind of system a particular procedure is fundamental-whether, that is, a procedure is necessary to Anglo-American regime of ordered liberty. “White, writing for the majority, concludes the concept of jury trial is fundamental to the concept of justice. 

c) Justice Black concurred that he will support selective incorporation though he really wanted full incorporation. 

d) Harlan says historical evidence shows that 14th was never meant to be incorporated against the state. It can only be done limitedly, as an evolving concept. 

C) P&I of the 14th Amendment
1) This clause has been narrowly interpreted to protect from state interference of national citizenship, which are rights that “owe their existence to the federal government, its national character, its constitution, or its laws.” There are very few rights of national citizenship. These rights are:
a) The right to travel, which is includes right to change citizenship meaning you get all the privileges of that citizenship.
i. CA passes a statute that gives less welfare benefits to CA residents who just moved from out of state than those who have been CA residents for a long time. Congress then adds to this saying state like CA can choose to give the indigent the amount of welfare they receive in their old states. SCOTUS says this is not kosher for it interferes with the right to travel, which means you get all the right and immunities of the state you’re residing in. It is part of the national citizenship for you to move to whatever state you want, and you establish citizenry that way. 

c) The right to vote in national elections

2) Strict Scrutiny is the test for P&I
a) Compelling governmental interest
b) Narrowly tailored
c) Lease restrictive means
D) Slaughter House Gutted the P&I of 14th Amendment

1) What was intended
a) The 14th amendment made everyone a citizen of the US, and state citizenship was merely an indicator of residence. 
b) The federal government therefore protected a person’s fundamental rights, as well as their Privileges or Immunities
2) What Actually happened

a) P sued State of LA, who created a monopoly, putting many butchers out of work. P claimed gainful employment was a privilege of the citizenship of the USA. 

b) Court held there were two citizenship, a US citizenship and a state citizenship. 
c) Gainful employment was not a privilege that was within the scope of US citizenship, since US citizenship was very limited. 

d) Their reasoning was there was no congressional intent to drastically change the relationship between US and state power. 
II) Substantive Due Process
A) Is it fundamental right or not? If it is an economic or social welfare, it is most likely a non-fundamental right.
B) Economic regulation – ask two questions (probably will pass since no court has struck down an ER since 1937)
1) State must pursue a legitimate state objective (Keep in mind that general welfare goal such as health, safety is within a state police power so it’ll probably be counted as legitimate)
2) It has to be minimally rational
C) Fundamental Rights – Strict Scrutiny
1) The objective must be compelling
2) The means must be necessary – there is no other alternative
I.
The Lochner era

A.
Overview – to accuse someone of lochnerizing is an insult. It’s called lochner era because court pretty much overturned everything. 

B.
Lochner v. New York – NY passed a law limiting bakers to 60 hours a week of work. 

1.
The substantive right – baker claims the law violates their right to liberty of contract without due process. This is not the same as the contract clause, which says that state can’t pass laws that affect contracts ex-post-facto. 

2.
Legitimate state interests – their state interest was the health of the baker and the sanitary standard of bread. Court doesn’t buy it because the law has nothing to do with the health of baker or sanitation. Hours work has no correlation to health. Another interest is to stablelize the economy in the great depression, give more bargaining power to the bakers. Court rejects this second prong, saying that legislature cannot side on matters of economic distribution battle. 

3.
The level of judicial scrutiny – basically, it’s a level of a strict scrutiny. It’s on p. 369. 

4.
Holmes’s dissent – He said that baking is dangerous. 

II.
The demise of the Lochner approach

A.
The New Deal crisis – FDR puts pressure on the court to change its way or he’ll add more justices. 

B.
The “switch in time”: West Coast Hotel v. Parrish – It involved a minimum wage statute that applied only to women. Overturns Lochner, saying you could participate in the battle of economic redistribution. 

1.
The substantive right – what is this freedom/liberty of contract? There is nothing in the constitution that says this. What you have deprivation of liberty without due process, and due process means regulation that is reasonably related to the objective. 

2.
Legitimate state interests – the legitimate state interest is protecting a class of women who are exploited due to their inequality of wealth, income, bargaining power. 

3.
The level of judicial scrutiny – it is not rational basis. 

C.
The modern approach: Lee Optical – It is basically a rational basis review. SCOTUS will believe that banning opticians from fitting lens into frames might have a rational basis to eye health of citizens even if in reality, the legislature had no rational basis for this (even if they did it as a protectionist measure). 
III.
The Takings Clause

A.
Enumerated economic rights – Remember that in terms of economic review, it’s rational basis. But for taking and contracts, we have a different review. 

B.
Animating purposes – There are two reasons why government should pay the person who gets his property taken. 1) If this is a public benefit, then the public should pay so they can bear the cost 2) To prevent oppression. 

C.
Doctrinal framework – you can think of taking as falling into 2 categories 1) physical taking (this includes occupation) 2) Regulatory takings – where government has regulated the use of property in some way and has diminished the value of the property. In Lucas, court decides that if law deprives them of all economic beneficial use, then we’ll call it a physical taking. 

D.
“Public use”: Kelo v. City of New London

1. They wanted to take the property to economically revitalize the area. 

I.
The Takings Clause: “Public use”

A.
Different understandings of “public use” – Public uses does not necessarily require government ownership, public access. You can give it to private individuals for purpose of revitalization/economic redevelopment such as jobs and tax revenue. 

B.
Level of scrutiny – it’s rational 

C.
The aftermath – people were pissed off after this. 

II.
The Contracts Clause

A.
Overview 

1.
Limitations - no state shall pass any law. So this can’t apply to the federal government. It only applies to existing contracts. Government can pass law that can shape future contract, it can’t do it to contracts ex-post facto. But you must understand that it’s not absolute. CA can pass a minimum wage law, thus changing the payrate of your contract. 

2.
During the Lochner era – During this error, no one really used this clause because Lochner basically made it weak. It came back after West Coast Hotel 

B.
Allied Structural Steel v. Spannaus
1.
Background

2.
Substantial impairment? – this is the test. The greater the level of retroactivity, the greater the chance court will find substantial impairment. Is this an area that has historically been regulated? The level of scrutiny varies depending on the level of impairment. 

3.
Justifications?

a.
Weight of the state’s interests – Does this law have general societal significance? 

b.
Appropriate tailoring - Is it a response to an emergency? Is it appropriate (Is it over inclusive or under inclusive)?

C.
Government contracts – if it is a contract between 2 private individual, it is somewhere above rational basis. If it is a government contract, it is strict scrutiny, much stricter than 2 private individual. The law must be necessary to achieve an important purpose. An example of this is when the state of CA bought way too much electricity at an expensive price from Enron. CA then wanted to get out of it, court says no. 

III.
Modern substantive due process

A.
The big question – how do you reconcile Lochner with Griswold, Roe, and the other rights to privacy case? 

B.
Footnote 4 (of Carolene Products) – This case was about milk companies hijacking legislation that was only to benefit them. The court says they will not second-guess the legislature but in cases where there is 1) an enumerated right 2) interference with political process 3) and it discriminates against discrete and insular minorities

C.
Lochner era antecedents – Lochner haunts us until today. 

I. The Right to Privacy: Griswold 

A. Historical Issue – After Lochner, court was very unwilling to intervene with statutes. 

B. Constitutional basis: Myer v. Nebraska – No, you can’t forbid the teaching of german languages in school. Pierce v. Society of Sisters – KKK has influence in Oregon and forces all students to go to public schools because they wanted to shut down the private catholic school. Court said this was unconstitutional. Both these decisions were before Lochner, and they are the basis to defend Griswold in addition to the penumbra argument (1st (freedom of association), 3rd(quartering), 4th(unreasonable search of home), 5th (ban against self-incrimination, sort of a stretch according to Prof.), 9th (rights are reserved to the people). But historical documents showed that 9th amendment was meant to limit federal government from interfering with state government. But it has been interpreted for something else here. Douglas makes an argument that this is not Lochner, we’re following a different principle here.  

C. Breadth of the Right – It seemed to apply to married person, an intimate relationship in a married home has a right to privacy. 

D. Fundamental Rights Analysis – it basically is a strict scrutiny test. 

E. The other Opinions – Black dissents, think the rights are the only one limited to enumerated rights. He wants you to ask if it is a fundamental or implicit in the scheme of ordered liberty. He doesn’t think it is. He thinks that the judicial branch is trying impose its own “natural rights.” Stewart dissents, saying it’s a stupid law but you need to leave it to the political process. Harlan concurs, saying this is a substantive due right, not an economic right that needs protection. He says judge will limit themselves. White says this law basically flunks the rational basis test. Goldberg thinks you can justify it under the 9th amendment. 

F. Extending the Right – What if the law had been contraceptives cannot be distributed to unmarried couples but to married couples? Now, the means of regulating is narrowly tailored. But by 1973, attitudes had changed. 

II. Abortion

A. Roe v. Wade – extends Griswold beyond married couples, now to unmarried women for it involved a Texas law that banned all abortions except to preserve the life of the mother. 

1. A fundamental Right – Blackman sort of screwed up on grounding it in a privacy right. More of a policy discussion and medical discussion. 

2. The Government Interests – In the first trimester, no compelling interest at all. In the 2nd trimester, government interest in human mother’s health compelling. In the 3rd trimester, government’s interest in fetus life is compelling.

3. The Trimester Framework

4. Life or Health Exceptions – in addition to the trimester framework, the other standard to follow for abortion is the life or health exception. In other words, all regulation must include the life or health exception in it’s clause. 

B. Abortion Politics, 1973-1992 – In response, states passes legislation to push the boundaries of Roe. It all gets shot down. O’Connor replaces Stewart (Roe supporter), Scalia replaces Burger who supported Roe, and Kennedy replaces Powell (Roe supporter). Souter replaces Brennan. Thomas replaces Marshall. And you have Rehnquist still living from the Roe case. 

C. Planned Parenthood v. Casey

1. Retaining Roe’s Central Holding

a. The basis of the right

b. Stare decisis

c. The legitimacy of the court

2. The New Doctrinal Framework

a. Prior to viability

b. After viability

c. The government’s interest

d. Life or Health Exception

3. As applied to PA’s law

I.
Abortion

A.
Planned Parenthood v. Casey

1.
Retaining Roe’s “central holding”

a.
The basis of the right – The court connects abortion rights to rights that have been considered traditional such as right to bodily integrity. The government cannot force you to inject things in your body against your will, and forcing you to carry a baby is an extension of this. They also make a gender inequality argument. 

b.
Stare decisis – Reasons for turning over stare decisis is 1) unworkability (National league of city is an example) 2) reliance interests that harm 3) new precedent or doctrine (the rule has been overruled in a whole bunch of other cases, taking out the support for the doctrine) 4) facts that significantly change (racial segregation does not achieve racial equality, Brown v. Board). 

c.
The legitimacy of the Court – Court basically says we’re going to uphold abortion rights to uphold the legitimacy of the court. 

2.
The new doctrinal framework

a.
Prior to viability – regulations are permissible so long as they do not impose an undue burden. You look at the purpose or effect of the supposed undue burden. 

b.
After viability – Same as Roe in the 3rd trimester. State has a compelling interest to prevent the abortion unless there is a life or health exception. 

c.
Life or health exception 

d.
What has changed?

3.
As applied to Pennsylvania’s regulations

a. 24 hour waiting period is constitutional. It is a burden but not undue. Even if you live in a rural county and have to stay in a motel, oh well. 

b. Reporting regulations – constitutional. If there is an burden, it is outweighed by the benefit because the information provided will be used for research. 

c. Parental consent – It is okay as long as the minor has a judicial bypass. 

d. Spousal consent – it’s unconstitutional because if it’s a healthy marriage, you’re going to talk about it anyway. 

B.
Abortion regulation since Casey – the one that came up is partial birth abortion, which is constitutional. 

C.
Abortion funding

1.
Regulation vs. spending

2.
Decisions – Abortion funding is not a right. There is a right from governmental interference, not a right to a benefit. 

II.
Sexual autonomy

A.
The “dots” of fundamental rights – such as right to send your kid to whatever school, teach your kid German…

B.
Bowers v. Hardwick – Law criminalizes sodomy for everyone, straight, gay, married, not. The opinion just looked at the law dealing with homosexual sodomy, not heterosexual sodomy.
1. Hardwick argued that his right to engage in sodomy was protected under the implicit privacy found in the 14th amendment. 
2. Court rejected this argument, that our nation has long had law rooted in morality. To suggest that the act is “deeply rooted in this Nation's history and tradition or implicit in the concept of ordered liberty” is ridiculous. 

3. Blackmun dissented, noting that sexual intimacy is a key part of human existence. 
C.
Lawrence v. Texas
1.
Equal protection vs. due process – everyone thought the court was going to do it under equal protection. They chose to do it under due process instead and overturn Bowers v. Hardwick. 
2.
Stare decisis
3.
The right recognized – was adult intimate choices, whether or not you were married, to participate in the relationship you want that is not harmful. 
4.
Is that right “fundamental”? – Scalia believes it isn’t, because the court used a rational basis review rather than strict scrutiny. 
5.
An end to morals legislation? – no, see below. 
III.
Gay marriage – But in Lawrence, court was careful to say that their ruling does not affect laws about bestiality, sex act that result in harm, or does not require consent, or government recognition of gay marriage. 
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